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/'/0 ) :

Who was regarded as Political Guru by | 1,  mijeht ford a7gen Teiifeeh 16 AFid & ?

andhi ?
: .. . @ < A ®
Dadabhai Naoroji (B) Vivekananda
© e )

khale D) Tilak

©

2. Who estabBehed the Ramakrishna Mission ?

®
©
O

), Aravallis
(C) Eastern Ghats O \ndhyachal

4, The institute which calculates Natio
in Indiais:

/4w < v 2 T o e
@ S

® foa amEm

© e wifers! g

@ T fred wedam

(&) Planning Commission
(B) Finance Commission

(©  Central Statistical Organisation //
:/
(D) National Sample Survey ) /

/:,, N

7 .
6. \ 39 Gl T SN IS 1 &N ?
5. The next term in the series 25&,/ 130, 66, 34, 18, N

.......... is : '258, 130, 66, 34, 18, ..........
@ 12 10 @ 12 ® 10
© 4 6 © \4 ™ 6
6 I - COMPUTER i wri 6. Tt %ﬁf‘u ¥ sl weg COMPUTER #Y
. n a certain code age UTER is written N : A
as RFUVQNPC. How will MEDI CINE be written RFUVQNPC & &7 % %1 fofan rmn 1 st A
in that code langhage ? &g MEDICINE 31 8 S ?
A) MFEDJ{OE ® EOJDEJFM &) MFEDJJOE . (B EOIDEJFM
© MF © EOJDJEFM () MFEJDIJOE (D) EOJDJEFM

ister. C is B's Mother. D is C's Father. 7 A B :: ;I ;' B =t g z;a?:?ﬁﬁi
E is D/s Mother. Then, how is A related to D ? TNE DHAME AAFD EF:" ‘

(d)/ Grandfather B) Grandmother @ T ®
Daughter @) Granddaughter © T ®) d
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10.

11.

12,

13.

(B) Anticipate
Think

Find the correctly spelt word :
(A)  Acedemically
(C) Acidemically o

Write antonym of ENOR
@ |
© Tiy

Among [Ni(CO),J, [Ni(CN) ]2~ and [NiCl,]?~
species, the hybridization states at the Ni atom
are, respectively :

@) sp3 dsp? dsp? (B
(©  sp?, sp3, dsp? D)

sp?, dsp? sp?

dsp?, sp3, sp?

Nesseler's reagent, which is used for the detection
of NHI ion in qualitative inorganic analysis, its
[.UP.A.C. name is:

(A) Potassium tetra chloromercurate (II)
(B) Potassium tetra chloromercurate (I}
(©  Potassium tetra iodo mercurate (II)

(D) Potassium tetra iodo mercurate (I)

The aqueous sclution of HCOONé, CgHzNH,Cl
and KCN are respectively :

(A) Acidic, acid, basic
B) Acidic, basic, neutral
(C) Basic, neutral, basic

(D)  Basic, acidic, neutral

20-Chemistry
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11.

12.

13.

‘PONDER’' Ieg %1 5 379 <TarL sRefl v 4fe :

Anticipate
Think
aﬁa’ramw@"@:
(A) Acedemically (B) Academicaly
C)  Acidemically (D) Academically

[Ni(CO),], [Ni(CN),J2~ & [NiClJ2~ # Ni T
=t GO IrEe e €

(&) sp dsp%dsp? B
©)  sp3 sp?, dsp? D)

sp?, dsp?, sp?

dsp?, sp3, sp?

Ferer ifurwes, SN R NH; 3T 3 ToTes e
T 39 o T e €, SER LU PAC. W E

@) e T TR (1)
@)  ieferm T FRAEEEE (1)
© drefirEm e sl wERE (1)
@) R T e REE (D)

HCOONa, CgH;NH,Cl 3RKCN % wefia foeraq
ELNI U

Q@) Iy, o, e
® oW, i, A
€ &, e, R
O &3, Ty, IR



14.

15.

16.

17.

18.

' Which‘\’(;)f the following pairs is hard acids ?

@ AgtandAu* (B Na*andCs*

© Hg*andHg?* (D) Cu' andCu2*

Which one of the cyano complexes would exhibit
the lowest value of paramagnetic behaviour ?

@)  [Crx(CN)g)3~ ®)
© [Fe(CN)g?~ D)

[At. No. : Cr=24, Mn =25, Fe =26, Co=27]

Mn(CN)g)3~
[Co(CN)gl3~

The increasing order of the crystal field splitting
power of some common ligands is

(a) HpO<OH <Cl” <F <CN~
(B) Hy0<Cl” <OH <CN~ <F~
© CN”<Hy0<OH <F <CI”

M) CI” <F~ <OH <Hy0<CN~

Stability of a Chelate is due to:
(A) ringshaped structure

(B) cyclicstructure

(C} increase inentropy

(D) straininring

Which of the following organometallics is used as
Zieler-Natta catalyst ?

© C,HgMgBr @) (CyHy), Al

20-Chemistry

14.

15.

16.

17.

18.

FfEAd AR WU FSR TA R ?
@) AgtalRAut (B Na*3Rcst

() Hg* 3RHg:* (@ Cut 3R Cu2+

1 | Sifeel § | 1, Tl SRR H
[AaH 9 TEd g ?

@ [CHCNGP~  ®  MnCN)P"
© [FeCN)~ @) [CoCN)G™

[At. No.: Cr=24, Mn=25, Fe =26, Co=27]

freet wice favem it v sed g FA A & -
(A) HpO<OH <Cl”<F <CN~
(B) Hy0<Cl” <OH <CN~ <F~
(©) CN™ <HyO0<OH <F <CI”

@) CI” <F <OH <HyO<CN~

et ieie % wfae S FRUE

(A) T AR HEG

@®) THEGET
© AT
O 3 H fagh

= % S <6 -t A Sihrer-T1e 38

FETH HM A 1 S § 2

A  (Et)yZn ®) CgH,Li

©  C,HMgBr @ (CoHy,yAl
P.T.O.



19.

20.

21.

22,

23.

Which of the following ions helps in the secretion
of insulin from pancreas gland ?

@ Mn?* ®)
© K- @)

an +

Ca2+

Most important use of methyl silicon polymersis:
(A)  Gasket formation

(B) Syntheticlubricant

© Inmedicines

D) Asinsulator

The shape of ClF; is :

(d) Equilateral triangle

(B) Pyramidal
() “V’shaped
M “T" shaped

Which of the following will have maximum dipole
moment ?

@A NF, ®)
(O NBry (D}

NCl,

NH,

The mathematical equation to express the Born-
Haber's cycle is :

@) Q=S+I+% +(-E)+(-Vp)
®) —Q=S+I+]—:2)-+(E)+(—V0)
© S+I+%—E—V0 +Q=0

()] S-I+%—E—V0 +Q=0

20-Chemistry

19.

20.

21

22.

23.

fir 1 @ B W o vwE TR TR §
1 T e g &2

(A) Mn2+ B) In2*
© Kt @) Ca?*
Ao faferra agere! 1 g8 S99 WM &
(A) TR AN H

®) FEEEEEFEIH

©  siufiei

@ FACEFEIH

CIF, 310 &} JArhfa & -

@ T Brnia

® fa e

© V"t

@ T rpfa

foy 3 Q Forwram Ty amepot axfrseam 22
() NF, ®) NCl
© NBr, @) NH,

&R o o1 Tt Tt A H @ dm

(A) Q=S+I+—]§—+(—E)+(—V0)
®) —Q=S+I+%+(E)+(—V0)
© S+I+%—E-—V0+Q=0

D) S—I+%—E—V0+Q=0



25.

27'

29.

Which of the following reagents, is called Good
Grignard's reagent ?

@) (C2H5)2 Zn ®)
© C,HyMgBr )

C,H; Li
CHsMgBr
Which of the following anions is present in the
chain structure of silicates ?

Sip08 ™~

@  si03” ®)

©  (Sig0g)2- @  (Si0g)3"

One of the following is called “Inorganic
Benzene”:

@) BgH,, B BgH,
© BsNgHg @) ByNH,,
Structure of [Fy is :

(4> Trigonal bipyramidal
(B V-shaped

(© Squarepyramidal

(D)  T-shaped

The structure and hybridization in Xenon
hexafluoride XeFg) is:

(4) linear, sp3d
(B) planner, sp3d2
(C)  square pyramidal, sp3d?

(D) pentagonal pyramidal, sp3d®

The highest magnetic moment is shown by the
transition metal with configuration :

@ 3d? ®) 3db
© ad O 3d°
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25.

26.

217.

28.

29.

=1 ¥ 9 SR 399 frR afieds s &2
@) (CHg,Zn ® C.HyLi
© C,H;MgBr @) CgHsMgBr

=t § | wa wmomem, S faferne ® @ o
Sufeer g1 8 ?

@ siof” ®  Sip08”
©  (Siy05)2" @  (si0z)3~
= 1 Q forae! emEfe SSia Fer s €2
{A) B6H12 ®) BGHG

© BgN3Hg @) BgNgH;,
IF %t WE=C it

@ P G

® V-3TFfa

© = s

®) T-3mHfd

XeFg H Y= 9 A H"q’ﬂ-“l B

A o, spdd

B THAd, spid?
© i fitfuEy, 5pia2
©) vty fifd, sp3dd

e o Q4 FAE gFOu g &1 fo stfiean

Tt Tl yefiia wan §?
@ 32 ® 3db
© 3d’ ® 3d°

P.T.O.



30.

31.

32.

33.

20-

Lanthanide contraction is due to increase in :
(A) Atomicradius

(B) Atomicnumber

(C) Effective nuclear charge

(D) Size of 4f-orbital

An organic compound, C4H,O does not give
precipitate with 2, 4-dinitrophenyl hydrazine
reagent and also does not react with metallic
sodium. It could be :

#) CH3;-CH,-CHO

B CH,=CH-CH,0H

The correct order of increasing strength of the
following acidsis :

0 cl o 0
\/\/\OH W\OH W‘\OH
C1 cl
D

(I (1D
A I<II<III ® I<IlI<Il
(©C II<Iii<I D) II<Ili<Il

In the following reaction, role of Quinoline is:

R-COCL+H,—P4/B250;  p_cHo+HO

Quinoline
(A) Ascatalyst
(B) Catalystic promotor
(C) Catalytic poison

D) Assolvent

Chemistry

30.

3L

32.

o 9 9, fhas 9 | Adeges dgaadm e ?
@ ] e

® T FAR

(€ WUt e srE

D) 4f-3iTdea & 3THR

T FE T A, C,HO S 2, 4-SEARfthrae
TEESIA o W 18 a1ae T8 aw oI Wifsaw ug
B ot srfufera 7w - A IFME

®) CH,=CH-CH,0H
(©) CHy—CO-CH,

et avrell ) o) g8 e S IR R §

0 1o 0
SNon SN Nou \Cl/\/KOH
al

33.

D (I (111
A I<II<III B I<Ill<II
(C) 1Ii<Ii<I O II<IiI<l]
e afsferan o wifem wm e §

R-COCl+Hy —L/B250s g cpo+HQ

Quinoline
@A) T R F T
® SO T

© S fa

O T fHaE w wE



34. Inthefollowing reaction Z willbe:

NH,

NOz (i) NaNOYHCI (273 K) ’
(ii) Anisole .

NO,

NO,

@) O,N @- NHOH
NO, OCH,

o wBrd0)
NO,

© o,N @-N: N‘@O—CHa
NO,

o @@

35. Following reaction is an imporiant procedure for
the synthesis of Quinoline - it is called :

(&  Doebner- Miller's synthesis

2

NH
CH,-0OH
|
+ CH-OH
|

CH,- OH

CgH; NO,
FeSO,, H,SO,

(B) Skraup synthesis
(©  Friedlander’s synthesis

@ Knorr - Quinoline synthesis

20-Chemistry

34, fr= sfafrm o Z & :

NH,
N0z ) NaNO/HOI@13K) .
(ii) Anisole i
NO,
NO,
@) O,N @ NHOH
NO, OCH,
o wr- G r{0)
NO,
© OzN@N=N 0-CH,
NO,

O o,N @N=N—O@CH3

85. e arfufran, wiifem sFm #1 o mReEe fafy
¥ - I FEoE €

NH,
CH2‘_0H
+ (I'JH—OH &_@L +4 H,0
) FeSQ,, H,80, 2

CH,-OH
v SeR-faer dyemy
B) oI HIAYT
© edvet g
O FTR-FEfe e

P.T.O.



36.

37

38,

39.

40.

A sulpha drug, its commercial name is M&B 693,
was used a medicine, is called :

(4) Sulphanilamide
(B) Sulphathiazole
(C)  Sulphapyridine
(D)  Sulphaguanidine

Complete hydrolysis of cellulose gives :
®)
M)

(A) L-Glucose D - Fructose

(© D-Ribose D - Glucose

The helical structure of pretein is stabilized by :
®
)

(A)  Dipeptide bonds Hydrogen bonds

(C©) Covalentbonds Peptide bonds

The monomer of the following polymeris :

CH, on
| +

ANN-CH,-C~-CHy~C< . °
| CH,
CH,

& CHy~CH=CH-CH,

® CH,-CH=CH,

@ H,C=C(CHy),

Which of the following is example of Non-ionic
detergent ?

@

(B) CH3(CH2)11 ‘@SOSNH

(©)  CH3(CH,),, CHy(OCH, CH,), OH
»)

[CH3(CH,),5 N(CHy)4] Br

20-Chemistry
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36.

37

38.

39,

TF TH Wﬁ,ﬁwwmﬁﬁwm&B 693, @
vy suiEnfF T - 9w

(A) TEHMA-TARS
B) GEEIHSE
(©) HeFRIdEH
©O) TewErEnEE
Bereirs 1 gof et o &
(A) L - TN ®B) D- FRY
© D-TgEE ®) D - A
WA ) selise dra 9 wnfie faea ¥
Q) TRICESTUET B RN SH3N
© TEEINEEUEN (D) UeEE §u g
11 9geT FT UFTH B

CHs CH

+

ANA—CH,-C~CH,-C < °

[ CH,

CH,
() CH,-CH=CH-CH,
® CH,-CH=CH,
@) H,C=C(CHy),
P o Q % Q1 SIS TERE ¢ ?
(4) CH,4(CH,),; CH,080,Na
® CH3(CHy), @—803Na
(O CH4(CH,),, CH,(OCH, CH,), OH
D) [CH3(CH2)15 N(CH3)3] Br



AN
41. The'twoisomers given below are :

COOH cooH
H——0H H———OH
HO—+—H H———7——0H
COOH COOH

4 Enantiomers
B) Diastereomers
(© Mesomers

(D)  Position isomers

42. The Z-isomer from the following is :

©  cHH,-C-CyH;

CHy;-C-H

Cl—%}—Br
@y _c-F
' Cl—%—Br
™ r_c-m
@ only®

B) only (i)

(C) only(d)and (i)

@)  only (v)

20-Chemistry
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41,

42.

= fe3 < gaEEd €
COOH COOH
H—} OH H—F—OH
HO—————H H-————0H
COOH COOH
A) TR
B) EEREIEW
(€ TS
O feafs waEaE
e o Z-wweEE] €
®  CH.H,-C-C.H
3447 2415
CH;~C-H
@ ¢ - C-CH.MH
2115 3117
Cl—%}—Br
@ y_c-F
_ Cl—(l’l,‘-—Br
™  p_c-g
A HaE ()
B) FAA (i)
© (i) I (i)
D) FAS (iv)
P.T.O.



43.

44,

45.

Which of the following carbocation is the least
stable ?

+
CH,
+
®) CH,=CH
+
(© CHy=CH-CH,
CH,
0t
@ HL¢

Identify the correct order of reactivity in
electrophilic substitution reactions of the
following compounds :

CH; Cl NO,
ofs
I J
1 2 3 4
@) 1>2>3>4 B) 4>3>2>1
(C) 2>1>3>4 D 2>3>1>4

What will be the product of following reaction ?
CH,
COOH

o CX
COOH

=

Dil. HNO,

CHO

®) |
X~"CO0H

" X
COOH

20-Chemistry
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43.

44,

45,

11 o § S8 FEiyTEE S wenfae < €2
+
CH,
A4)
+
B CHy=CH
+
© CHy=CH-CH,
oy
Ot
@ W
CH,

e difirerl o SRt soveem et faeened sifufsrensii
1 HH B

CH, Cl NO,
1 2 3 4

A) 1>2>3>4 B 4>3>2=>1
(C 2>1>3>4 O 2>3>1>4
e arfuferan =61 3carg @ @ ?

Dil. HNO4

g
CH,
COOH
o
COOH
1
©
x-"""COOH

CHO

o X
COOH
CH,

(D) [:::[
COOH



46. TogetD.D.T., chlorobenzene will react with one

of the following compounds in presence of
Conc. Hy80,:

(A)  Trichloroethane
®)
©

®)

Dichlorcacetone
Dichloroacetaldehyde

Trichloroacetaldehyde

47. The compound X in the following reaction is:

J

Anh,
+ ICl AI_CI; X

@A)

Cl I
@ ® @
I
I
© © ) @
Cl Cl
Which of the following will not be soluble in
Sodium carbonate solution ?

48.

OH
NO,

= COOH
e

SO,0H

Y
NO,

OH

NO
)

20-Chemistry 13

46. DD.T. 3R & fau = ¥ ¥ o A & a1y
FEIS 1 Wig H,S0,, F1 sufterfa # aiftepa waan
e ?

FECINEDE]
SRFARICHIEH
L SICIEEEES
FLERINCICEEHES

@
®)
©
O)

frrr afufmen o X <ifies @ .

Cl I
« 0 e Q)
I
I
NG )
cl Cl

i # A Fm e, Ofeaw sEHe & wwE
fiyera O sTeereiE &2

OH
02N©N02 COOH
@ ® @
NO,

SO,0H

47.

Anh.
+ IC1 -A-Tl:; X

48.

OH

NO,
© 08))

P.T.O.



49,

50.

b1.

52

53.

When glycero! is heated with oxalic acid at
510 K the product formed is:

@ B}
(C) Glyceraldehyde (D)

Allyl aleohol Formic acid

Tartonic acid

An aromatic ether does not cleave by HI even at
525 K, the compound is :

@ ®
© CgHy—0-CH, M)

One of the following is called reduced equation of
state:

3
@A) "T+¢_2 (3¢-1)=88
_ , 4
® L ¢_2 (3¢-1)=88
rE
© w+¢—2 84-1)=360
(@)  None of the above

During the change of solid substance to liquid an

intermediate state is called :
(4) Liquid State

B) Smectic State

(C) Nematic State

(D}  Mesomorphic State

Which one of the following is called Bragg's
equation ?

@) dsinf=n\ ®) A=2dim9
© A=3dsinén (D) A=ds:‘°

20-Chemistry
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49,

50.

51.

52.

83.

o frerael F) ST o & WY 510 K a9 T

T fF Tt e TSR I ¥ .
() U usHied (B) WiHE v
© fedediss D) TR T

T QWiiifes $or HI 10 525 K a9 R +ff fawifea ==
B, g Afiw & ;

@A) CgH,~O0-CH; ®
© CgHz—O0-C.H, [

CH;—0—CeH,

= O Qe o7aTen wi GHFI GHR SR |

A "T+:b3§ (36-1)=88

® “*ff (36-1)=88
S

© "+¢—2 (84-1)=38

O Ul § q wE @

fore! uered & 3 I A gE S A AeAN *

THE S &9 F TTE el €

&) TageEn

®B) Tifees srae

(€ ifes staen

D ST s

= & @ Sl S i s ¥ ?

(&) dsinf=nA ®) A=2diin9
(© A=3dsinén ) h=ds;ne




64.

b66.

56.

b7.

~ b8.

Which of the following orders, follow the Hardy-
Schulze law during the Coagulation of colloids ?

@ [Fe(CN)}*~ <C1™ <803~ <PO3"
®)  [Fe(CN)g]*” <PO}™ <S03~ <CI”
© AP*>Ba?* >NatwwK*

®) APt <Ba?t <NatwmK?

Dimensions of Rate constant of I3t order reaction
are :

(A Sec~! Min~!

(C) Hour~™ 1

®)

D) All of the above

At 330 K the decomposition of N,Oj is ISt order
reaction, the value of rate constant is
3x10~2 min~!. The half life of reaction will

be :
(A) 1100min B) 110min
(© 23.1min

O) 2.31min

Which one of the following is an extensive property
of matter ?
Volume

(A) Temperature B)

{(C) Pressure ({0 Density

Ammonium chloride when dissolved in water leads
to cooling sensation. The dissociation of
ammonium chloride at constant temperature is
accompanied by :

(A) Increaseinentropy
B) Decreaseinentropy
(C) Nochange in entropy
(D) Decrease in enthalpy

20-Chemistry
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54.

65b.

56.

67.

58.

fore % J B o, Freiles F o § ey
form 1 STt e & 2

@  [Pe(CN)J*~ <C1™<S0Z™ <P}~
B) [Fe(CN)g)*~<POZ~ <802~ <CI”
© APt >Ba’* >NatwwK*

©®) APt <Ba?* <NatwwmK*

wem wife w1 sfafral & fow an s % 9o
B
V) Min !

o |t

Sec—!

®)

© Hour™! p)

330 K T4 W N,O, % o Hife & 3Taae & fag &
feRiFE F A 3% 10" 2 min~1 ¥| THH g ErlF :

A 1100 min B) 110min
(C) 23.1min ®) 2.31min
fire 1 @ werd 1 i el @ R ?

@A) ® AFH
© <= O A

AT FARES & o ¥ §eR W 3% * SREH
B &, fer a9 R smfaw Fege W 9 W e
= @ awfua &

@ I
®) T
© i uitad
O e § w

P.T.O.



59,

60.

61

62.

An inert gas has been added to the following

equilibrium system at constant volume,
equilibrium will shift :

Nz +3H2 =2 NH3
&) Forward B) Backward
© Noeffect (D)  Unpredictable

The following equation is called :

pp 2303R|Ty T
d) Reactionisotherm
®  Reaction isochore
(Cy Clausius- Clapeyron equation
(D) Henderson eguation

At eutectic point the composition of a mixture of
bismuth and cadmium in Bi- Cd systems :

(&) 60%Bi + 40% Cd
B 40%Bi + 60% Cd
©) 70%Bi + 30% Cd
Dy 30%Bi + 70% Cd

If n, moles of non-volatile solute are dissolved in
n, moles of the solvent, Rault’s law can be
expressed mathematically is :

o 3 a 3
p°-p’_ ’-p°_ m
@) r° ny +ny ® r° n; +n,
3 8 o 8
p—p _ Iy PP __ M
(C) ps nl +n2 (D) ps nl +n2
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59.

60.

61

62.

3 o 3 feer se W uw AfRa T A
e femn s @ oy TR -

N2 +3Hyg =2 NH3
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YRS fag W, Bi-Cd €7 # fowig o Fefaw
fagu =1 FeA g & ¢

(A) 60%Bi + 40% Cd
®  40% Bi + 60% Cd
© 70%Bi + 30% Cd
@) 30%Bi + T0% Cd

Afg sremorsiie foerdr % n, A # @S F n,
el ¥ Hien W, 99 T3d F {99 =1 ity w9 °
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63. The value of Ay for KC1 and KNO, are 149.86 63. KCl a1 KNO, Wl 3 a3 R HIeR et

and 154.96 ohm ~ ! cm? mol ~ ! respectively. Also UV 149.86 7 154.96 3~ 1 .2 Hier— 1§ W
A:l' is 71.44 ohm~! em?2 mo! 1. The value of & )‘:r FI ACTHA 71.44 -1 2 W1 @)
";og‘”iu be : Nyoz FF T S0 TIA R HIER =erwa g ;
A 76.540hm—1cem2 mol~! (A) 76.54 ehm~!cm?2 mol~!

® 133.08chm~!cm?2 mol-! ®  133.08 ohm™% em®mol ™!

-1 2 -1
© 37.70hm~!em2 mol ! ©  87.7chm™ cm?mol

{D) None ©) R

64. I Jw URadq 9 9 feriw § fr =iy aen

64. The free energy change is related to equilibrium

constant as : Sare
(A AG=RThk, & AG=RTInk,
®B) —-AG=RTlogk, B) -AG=RTlogk,
© -AG=2.303RTlogk, (€ —-AG=2.303RTlogk,
. RT log k
~AG= c
© - AG=—R'12‘ 1§§3k° ® 2.303

65. 0.01M TEHF 3 F pH %1 HF 201 :

A 20 ® 1.699
© 30 @) 0.30

65. pHvalue of 0.01M HySO, would be

@ 20 ® 1699
© 30 ®) 0.30

66. hiTge 9WE Eiia ferar Sar @
@) 9 X~ s | ohad €
® = X-foe @t vy | cwadt §
(©  When X-rays strike on graphite © v X-ToRedl T ¥ T §
(D) When X-rays strike on silica O & X-feul fafaw ¥ cwgd §

66. Compton’s effect is shown by :
{A) When X-rays strike on diamond
(B) When X-rays strike on gold foil

67. Frank-Condon principle is associated with : 67. - agia et | g

() Raman Spectra @) T

(B) Electronic Spectra ® s dagl
(C)  Selection Rule © = fEm

@  Electronic Transitions O) TAFIF GHOl
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68.

69.

70.

The role of photosensitizer in a photo-chemical
reaction is @

(A) Asacatalyst

(B) Asanenergy carrier
(C) Asareactant

(D) Al of the above

Out of the following solutions, which has the
highest boiling point ?

(A) 0.1MUrea

B) 0.1 MGlucose

(Cy 0.1 M Sodium sulphate

O 0.1MAluminium Sulphate

6.02x 1020 molecules of urea are present in
100 m! of its solution. The concentration of Urea
solution is :

A) 0.001M 0.01 M

©)

®)

02M D)

0.1M

-~-00o0-
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68.

69.

70.

ferelt werrer TEEA erfufiRan § weere YU I W
W@ﬁ%

A) T I H @
(B) T IEF B AE
©) TFaeRE R
O) I oot

A 1 @ S Taerm &1 saeEis g9 3tfis g ?

) 0.1 M I

® 0.1MTEE

(© 0.1 M Hifsam welhe
©) 0.1 M TgfafEn gk

i1 3 100 m1 o= # 6.02 x 1020 370 397 &,

i faeras Y |t ot -

4 0001M B o0M

€ o02M O 01M
-o0o-
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